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Answer questions in all. Question 

 is . Attempt question

from each unit.

1. Answer parts : 2×10=20

(a) The star ' -Lyrae has a parallax of  0''.26

Find its distance

(i) in parsec

(ii) in light years.

i '

(i)

(ii)

7½

6 Show that at most 7 eclipses can occur dur-

ing a year,5 solar and 2 lunar or 4 solar and 3

lunar.

7. Derive a formula for finding the precession in

right ascension and declination.

7½

8. Explain the proper motion of a star. obtain ex-

pressions for finding the parallactic motion in

right ascension and declination.

9. Discuss Zwier's graphical method.

kegâue  ØeMveeW kesâ Gòej oerefpeS~ ØeMve nQ~
ØelÙeskeâ FkeâeF& mes Skeâ ØeMve keâerefpeS~

meYeer KeC[eW kesâ Gòej oerefpeS :

ve#e$e -ueeFj’ keâe uecyeve 0’’.26 nw~ Fme ve#e$e keâer
otjer  %eele keâerefpeS~

heejmeskeâ ceW

ØekeâeMe Je<e& ceW

efmeæ keâerefpeS efkeâ Skeâ Je<e& ceW DeefOekeâeefOekeâ 7 «enCe heÌ[ mekeâles

nQ, 5 metÙe& SJeb 2 Ûevõcee kesâ DeLeJee 4 metÙe& Deewj 3 Ûevõcee kesâ~

efJemegJeebMe SJeb ›eâeefvle ceW DeÙeve efvekeâeueves      met$e %eele keâerefpeS~

leejs keâer efvepeer ieefle keâes mecePeeFS~efJemegJee    SJe b ›eâeefvle ceW

hewjsuesefkeäškeâ ieefle keâes %eele keâjves kesâ met$e JÙetlheVe keâerefpeS~

ef]peDej «eeheâerÙe efJeefOe keâe JeCe&ve keâerefpeS~

heeBÛe meb. 1 DeefveJeeÙe& 

FkeâeF& 

FkeâeF& 

α 

α 
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(b) What do you understand occultation of

stars?

?

(c) Explain the binary stars.

(d) Define total lunar eclipse.

(e) Write the Besselian elements of an occul-

tation.

(f) Write a brief note on Zenith Telescope.

(g) Explain parallactic ellipse.

(h) Define independent day numbers and show

how they are used.

 ?

(i) What do you understand by diurnal aber-

ration?

?

(j) What do you understand by precession

of equinoxes?

7½

2. Obtain a formula for finding the stellar parallax

in longitude & latitude.

3. Show that parallax in declination of a planet

ovserved from a place with latitude  van-

ishes if.

tan =tan  cos H

Where  and H being planets declination and

hour angle respectively.

tan =tan  cos H

H 

7½

4. Show that abarration  varies as the sine of

the earth's way.

5. Find the formula for finding the oberration in

longitude and latitude.

ve#e$eeW kesâ «enCe mes Deehe keäÙee mecePeles nQ

Ùegice leejeW keâes mecePeeFS~

hetCe& Ûevõ «enCe keâes mecePeeFS~

ve#e$e «enCe kesâ efueS yesmesefueÙeve DeJeÙeJe efueefKeS~]pewefveLe 
otjoMeea 
hej 
mebef#ehle 
efšhheCeer 
efueefKeS~

hewjeuesefkeäškeâ oerIe&Je=le keâes mecePeeFS~

FefC[heW[Wš [s vecyeme& mes Deehe keäÙee mecePeleW nQ  mecePeeFS
efkeâ Fvekeâe GheÙeesie kewâmes neslee nw~

owefvekeâ efJeheLeve mes Deehe keäÙee mecePeles nQ

efJe<egJeeW kesâ hegjmmejCe mes Deehe keäÙee mecePeleW nQ~

osMeevlej SJeb De#eebMe ceW leeje-uecyeve %eele keâjves keâe met$e %eele

keâere fpeS~

Ùeefo De#eebMe kesâ mLeeve mes osKeves hej efkeâmeer «en keâe ›eâeefvle ceW

uecyeve MetvÙe nes,lees efoKeeFS efkeâ :

peneB SJeb ›eâceMe: «en kesâ ›eâeefvle SJeb Iesje keâes<e nw~

oMe&eFS efkeâ efJeheLeve ‘meeFve Dee@heâ o DeLme& Jes‘ kesâ meceevegheeleer

neslee nQ~

osMeevlej SJeb De#eebMe ceW efJeheLeve %eele keâjves kesâ met$e %eele keâerefpeS~

(2) (3)
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